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2. FUPHA=5x+12-6x+7, B=2x>-4x?-1°] t5}t] 24 - 3B
£ AL Aol A X2 0] Al dukelzh?

@14 @ -12 ® 4 @ 17 ® 18

2A - 3B
=2(5x3 +x2 —6x+7) - 3(2x3 —4x* - 1)
=4x% + 14x% - 12x + 17

ox2O A 14

o|Aya}et HotH At
2A — 3B=2(x?) — 3(—4x?) = 2x% + 12 = 1442




3. oY (P + )P+ 1) AE?

o5 @7 0t @i 6 nx

B

(2 + 1)t e84, (¥ +1)°2 924

TatA (2 +1)* (@ +1)° L
8 +9 = 177} ket Aol o,




4.

(245 — x4+ 1) + (o2 1 2) o] AAFA Lo 2]

® -5x+1 @ -x+1 ® 5x+1
@ x+1 (@)—7x+1

2x% - 3x + 12 x? + 22 23 HrolA] 73
¢ 2x, WA =T+ 1




5. (a-b-c)?= 27 ANE A2?

@® a® + b2 + % + 2ab + 2bc + 2ca
@ a® + b2 + ¢ — 2ab — 2bc — 2ca
® a* - b? - ¢ - 2ab — 2bc — 2ca

@a2+b2+c2—2ab+2bc—2ca

® a®-b?-c?+2ab - 2bc - 2ca

(a-b-c)?
=a’+ (=b)® + (=¢)? + 2a(=b) + 2(-b)(—c) + 2(—c)a
=a? + b% + ¢? - 2ab + 2bc — 2ca




A f(x) = —46 + ko + 17F Q3] x— 12 Wiro] Ho] A2 =
A% k0] ghe Fatolat,

fx)=-4x3+kx+1=(x-1)Q(x)
fl)=-41k+1=0
k=3
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o34 ax + ay — bx — by & 155l oFHA?

@® x(a-b) @ (a-b)(x-y) @ (a+b)(x-

@ a-b)x+y) O (a+b)(x+y)

y)

ax+ay—bx—by =a(x+y) —b(x+y)
=(a-b)(x+y)




9. o f(x)E 2272 +3x+ 22 YR EY Fol 3x—40], L7}
2x + 50|t} o] o, £(1) 9] gh2?

-1 @o ®1 @ 3 ® 5

B

flx) = (2x® + 3x + 2)(3x — 4) + (2x + 5)
=6x3+9x% +6x—8x> - 12x—-8+2x+5
=6x3+x2—4x-3

L f1)=64+1-4-3=0

f(x) = (2x2 +3x+2)(3x—4) + (2x + 5)
fA)=2+3+2)(3-4)+(2+5)=-T+7=0
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12, (P +ax+2)(x2 +bx+2)E ANAS W], 2} 3 2] A& 50
o] A sh= 44 a, bell st a+ b 2] 327

oW

@ -2 @—1 ®1 @ 2 ®

B

(2% + ax + 2)(x? + bx + 2)

= x5 +bx* + (a+2)x® + (ab + 2)x* + (2a + 2b)x + 4
(x2 O] Alg)=(x* 9] AlF)=0°] B2
ab+2=0,a+2=0

Tt a=-2, b=1

La+b=-1




13. a24+024+c¢2=9,ab+bc+ca=9, a+b+c2 F2?

D -32 @ -2+3 @if’)‘/g
@ +3V2 ® V6

B

(a+b+c)? =a?+b*+c?+2(ab + bc + ca)
=9418 =27

a+b+c==+3V3




14, oA 8x% — 12 4 + 2x + 12 RS mfo] &
0(x) o] o] Aee? h

® -2 @)-1 ® 0 @1

= (2x-1) (422 + 2x + 1)
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3 4 = (4 x 200 +ax+b) L WL AE ab

e
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> ®™EH:
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ar
H

flo
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(3 H)

S.ab =

=(x242)2-x2
= +x+2)(x2-x+2)

. a:—l,b:Q

-1%x2=-2




16.

(10° + 2)7 €] 2} A2l ] 5] Fg Foroder,

@ 15 @18 ® 21 @ 26

B

A& A7Nskd
1015 + 23 + 3 x 2 x 10°(10° + 2)
=10" 4+ 23+ 6x10'° + 12 x 10°
=10 4100 x 6+ 10° x 12 + 8

“14+6+1+2+8=18




17. 94 f(x)E x- 12 WE UHA7F 3013, x + 12 Hie U A7}
19 W, (@ +x4+2)f(0)E 2 - 12 e UHAE R(x) 2 & o,

R(1) 7o}A] L.,
’ cCt
> ®=ehl 12

4f1)=12=a+b---O
2f(-1)=-2=-a+b---©
@, O Aol E9,
a=7,b=5

SUMA R(x) =Tx+5
R(1) =12




18. X +x+12x+12 e 52 0(x) 2L 3

A g atelet,
>

> ®™eth: 2

~&B

P¥+x+1=(x+1)0(x)+R
x=-1< FHo idstH R=-1

LA +x+1=(x+1)0x) -1---O
O(x)E x- 1= e U A= 0(1)
@l x =12 st 3=20(1) - 1
L 01)=2




19, (x-3)(x=1)(x+2)(x+4)+24 E AFENHA (x+a) (x+b) (x2+cx+d)
oIty a+ b+ c—d9] =S Fotofet.

>

> Hehl 10

~&B

x> +x =A% ZgsIH
(x=3)(x = 1)(x +2)(x + 4) + 24
={(x-Dx+2Hx-3)(x+4)} +24
=2 +x-2)(x2+x-12)+24
—(A-2)(A-12)+ 2

— A2 14A + 48 = (A—6)(A - 8)
=(x*+x-6)(x2+x-8)
=(x-2)(x+3)(x* + x—28)
fatbtc—d=-2+3+1-(-8)=10




20. xof T 32 ] f(x)E x- 12 e YA 2, x+ 12 Yie
U 27 42430 Stk f(x) ol Al 22 o] Al a, 4SS bt ot
a+ b9l g2

@ -1 @0 ® 1 @ 2 633

B

f(x) = px® +ax®> + gx + b=t SHHA
f(1) =2, f(-1) = 4°l14]
ptatq+b=2---Q
-pta-g+b=4---©O

@ +OE s
2(a+b)=6,a+b=3




